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5. Each question has four alternative responscs 'marked serially
as 1, 2 3, 4 You have b darken only one circle or bubble
indicating the comect answer onthe Answer Sheet using BLUE
BALL POINT PEN.

6. The OMR Answer Sheet s inside this Test Booklet. When you
are directed © open the Test Booklet, take out the Answer
Sheet and fill in the particulars carefully with blue ball point
pen only,

7. 13 pairt of the mark(s) of each guestion will be deducted

© for each wrong amswer. (A wrong answer means an incorrect
answer or imare than one answers for any question. Leaving §
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IfA:{x%eZ-,Os:cslo},

B= {x|xis prime number of one digit}
and

={x|%eN,x512},thenAr\(BuC)
is equal to '

M 2,6 ‘@ B8
B) (26,12} @) {3,612}

Sets A and B have 5 common
elements. Thén number of elements
common to A XB and Bx Ais

(n 25 @) 52

3) 5 | @ o0 ..

A relation R is defined on set of
integers where aRb. if and only if
a? and b? are not prime to each other,
then relation R does not satisfy the
property

(1) Reflexive 2 Symmetnc
(3) Transitive (4) ‘None of these
If A is the set of natural numbers less
than 10 and B is the set of prime

numbers less than 9, then the number
of relations defined from Ato Bis

(1y 216 ) 28
3 2 @ 2°-1

If function f : R ~» R defined as

~ f(x) =%, then function fis

(1) one-one but not onto

(2) onto but not one-one
(3) one-oné and onto

(4) neither one-one nor onto

. 2y
_Thm - ‘JE"‘) - is equal fo

- k]l +x

M e (2) 2
1 o 1

s - @3
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. raweria ¥, a 3Kb F A E
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10.

1.

TR f(c) fame ¥ dR s ¥, 7
lim f(c+h)_f(c h)-2f(c)

h—=0

WER T

m o @ f(©
() 2f'(c) @ () + 1)

3-1 3+i1 .8

(ﬂ—+2—;]asra%tru$%

W 5 @ -3

& -3 = @7

10.

11.

‘ 1 . .
Function f(x)= " is discontinuous

og |x|

at

(1) one point

(2) two points

(3) three points

(4) infinite number of points

The values of a and b, such that the
function f defined as

axz—
]
| x|

is differentiable at x=1, are

b, {x|<1

x| 21

M a=1,b=-1 @ a=b=51

3 1
) a=%,b=5 @ a=7b=-1
3a®x— dy .
= gl | 2EEXZX
If y=tfan [a(a2—3x2]’ then 5 - is
equal o '
3 a
) 7z @ T
3a 3x
B T2 @ P

If f(c) exists and non-zero, then

lim f(c+h)Jc _h)-2f(c)

h—>0

is equal to -
M 0 ) f'(C)
(3) 21 @ P+

_ . ( . 3+i].
The amplitude of i{FFE+57)

equal o
T

M 3 ® -3
@ % @ 5




12.

13.

14.

15.

16.

iy z—iz‘-|=2,?|’r|z|ﬂ?f31rﬁﬁﬁfﬁﬂﬁ%:
() 5-1 @ J5+1

@ 5 @ THABE

—iw TE Y

1 . 1.
Mt FA-D @A+
3 £(1~i) @ £+
aRE A D sy R g v ik
y & e s § B xE +yB =0,q
(1) x=0,y=0

(2 x=0,y=0

(3) x#0,y#0

@ x=1,y=1

o 3,0, oW apm wRkw ¥ A
|@xB)-2| = 7| [B] 3] ofaik
FHad 4ig

() 2.56=0;b5-2=0

@ $.¢%0;2.2=0

@) ¢-2=0:3-6=0
2-5=0;3.¢207c.8=0

4

) A =
M % @ 5

12.

13.

14.

15.

16.

4 ' _ .
If |Z _E|= 2, then the maximum value

of|zlis
(1 V5-1 @ 5+1
(3) /5 (4) None of these

The square root of - is

A d
(1 i\ji(l_"l) (2) i\ﬁ(lﬂ)
+(1+1)

@ - @

If @ and 1_)} are non-collinear vectors
and x and y are scalars such that
x3)+y_l’?=0,then -

(1) x=0,y=0

2y x=0,y=0

(3} x#0,y#0

4 x=1,y=1

If &, B),I < be thrée non-zero vectors,
then |(@ x ) - ©[=| 7| [B| |2] ifand

only if

IfaP yd=(x +yP*q theng is equal

to
X x
M 5 @ 5
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18.

19.

2L

dx?ﬂm%
_1 L
(1 xsy 2 o
|
€)) _x3_y CY Ty

- (2) xytl
4 xy-2

(1) x+y
(3) 1-xy

HeF f(r) = 5% —x FhE s & adme
42

1M -1<x<1

Q) -1sx<1

3) x<1

@) x=21

1 _
() = x* BT oI § A

(1} x>e (2) x<e
3) x=e | 4) x>‘fI':
J\Ix"i_—g‘dxm%

(1) 2[R #-9+910g(:3+-9)]
@ 3[PVE=9+9105(:+/x5-9)]
@ ¢[eE-9+310g(x3+/50-9)]
@ eV F-9-910g(x3 +y[-9)]

17. .

18.

19.

20,

21,

1
Xt y?= t—-— Hyt=ti+5

3, then
%f_is equal to
1
M 3 ® 3
1 1
3 e C Y

Ify=\/1__%,thcn(1—%t)d%,}iis equal

to
(1) x+y (2) xy+1
@) t-xy. @ xy-2

Function f(x) = ¥* — x is increasing in
the interval

1) -l<x<l

@) -1<x<l

3) x<I

@ x21

! _ .
f(x) = x* is a decreasing function if

() x>e 2) x<e

3 x=¢ 4 x>—é
x2 -

j\{xe—_gdxﬁ equalto

) %[a3m+910g(f+d;m)]
@ 3P\ E9+9l0g(P+x5-9)]
@ 3[Pxe-9+3 log(:3+[x-9)]
@ [\x5-9-9tog(3+[¥-9)]




22.

23.

Codx
H3sin & _ ®

M %tan“(tanx}

) 2 tan™? (tan x)

3) tan‘1(2 tan x)

1
@ 2 tan“‘('z'tanx]

qﬁjlog(x+\,1 +xj) dx= gofr)* G
A1+ 52
g — .

1) for)=log (x+/1 +x2) @R
g(x)=\[1 +22

@) f0) = log (x+/1 +x2) &R
gx) = x2

@) fix)=log(x+1+:22) el
22
gxy="%

@ T o) =log (++/T72)

cs:;:xxdx T
(1) sinx ¥ €IE S5 % TH TEIE
(2) & ¥ U 4 % T GgIE

- (3) cosx ¥ I 5 T T JgaS

(4) tanx ¥ S I TH TG

% f:R -+ R, g:R = R U &,
aa‘ .

[y f9) (809~ (-0 e

2
1 1 @ 0
3 -l @ n

22,

——dx—— s equal to
1+3'_Sinzx

8y %tan"(tanx)
2 2tan~! (tanx)

3 'é'tan”‘(Z tan %)

@ 2tan“1('12"tanx)

(o GeAT7 )
IfJ ‘\lez dx= gof{x)+C,
then

(1) f(x)=log (x+\/1‘r)m
g =\1+2

@) fx)=log{x+V1 +x2) and
glx)=x

@) fix)=log (x+\1 +2) and
e

@) f(x)% and g(x)=log (x+\/1+22)

in?
sin‘x . .
Thej 5 . dx, is
- Jeos®x

(1) apolynomial of degree 5in sin x
(2) apolynomlal of degree 4 in ¢*

(3) apolynomlal of degree 5 In cos x
(4) apolynomlal of degree 5 m tan x

if f: R —R,g:R—R ar continuous
functions, then

[t + f) [g) — ) dx s

-n?.

equal to
(1 @ 0
3y -1

@ =
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27.

29,

06

ﬁnﬁﬁﬂqﬁwuﬁm 3 %9
# s aiismr £

M y=
2) y+i=log(x+y+2)+C
(3) y+loglx +y-2)=C

@ .'2y+1 +log{x+ y+2)=C

log{x+ y-2)+C+1

Ix(x—l)%f=(x—2)y+x3-(2x~—])

| o GHRRE U B

x—1 x*
M 5 @ 3=

2
@ 77

gﬁmex‘}WxE eYHEAY

. 3
(N e>’=e’f+—3—+c
(2ﬁ)_ey=e"-‘+53-3+c
B) €Y= +x+C

3
@ eY=er+T+C

27.

29,

' x—1 X
® I @ -

-Which of the following differential

equation is a linear equation of order 37

md_’z _?z

d3

d
® d?a %
(4) None of these

Th:e-so]uﬁonofgxz= T +.y+ s
(1) y=log(x+y-2}+C+1
(@ y+i=log(x+y+2)+C
(3) y+ lo_g_(x+y'—2)= C

@ 2y+l+logx+y+2)=C

Integrating.facto;rvof
x(.x—l)—z G —2)y+x3(2x—1)
is _
m =5 0 -

3

The solution of

—X-ex Y+, y2e~Yis

.(1) eY=¢'+ %3-+ C

3

@ &= F+4C

3
(3) e¥=e'+x3+C

b ermeriac



30.

31.

32.

33,

35

dy x+ :
Tt gt

dx
(N tan"§=log(x2+y2)+c

@ 2tani=log(2+y))+C
(3 2tan"}i=log(x2 +y)+C

4 tanf=2lo.g(x2 +y2)+C

AP, +3C__,= l4x, Tx SRR E:
(1 5 @ 10
(3) 8 @ 6

R(1 +x)“=‘co+clx+ ..... +cnx"‘,?ﬁf
co+201+3c2

(D n2°
(3) n2n42n-t

(2) n2n-!
@) 2n+non-!

(1+px)".n,pe Na?mﬁxaﬂi'xz%

(U7 A 8&‘!?24%?13

(1) n=3,p=2
(3) n=4,p=3

(2) n_4,P=2
4 n=5,p=3

A y=x-2+x3-x+.... A~
(1) x=y-y+y-y*+......
Q) x=y+y2+y3+yt+......
(B r=-yt+tyl-y+yi-...
@ x=-y-y’-yi-y ...

(x+a)?:ne NS TR #7s age
(1) #C,pqa"*lan?!

) annH ygnt+ 1

(B) 2nC_xn+lan-i

@ C x" &

30,

31.

32.

33.

34.

The solution of EJ{‘ ;“'}%

(1) tan"§:=log(x2+y2)+c

2) 2tanX:log(x2+y2)+C

3 2t "11—log(x2+y2)+c

@ tan*-2log(2+y?)+C

If*Py+*C, _,= 14x, then xis equal to
hH 5 @ 10

G) 8 @ 6

If (14+x)" =gy + ¢t .. +C ", then
the value of .
Ct2c +3c+.....+(n+ D

is equal to

(1) n27 (2) n2n-]

() n2n+20-1 @ P 4n2n-l

In the expansion of (1 +pj)“,n,pe N,
the coefficients of x and x? are 8 and
24 respectively, then

() n=3,p=2
(3) n=4,p=3
Ify=x-x?+x3—x*+....., then
() x=y-y+y’ -+ ...

@ n=4,p=2
@ n=5,p=3

" The middle term in the expansion of

(x+aP;ne Nis

(1) ncn+lxn+l n+1

(2) 2nCn+] xnan+]
(3) 2ncnxn+lan—l
(4 Cx"a



36.

37.

38.

,_'('1) A

39,

40.

awas|

cosx —-sinx 0
G F(x) :|: sinx cosxg Q :|,
. L o o )
& F(x) Fy) e & :

() Fix+y) () F{x-y)
@) Foy+Fy) @ F) -F(y)

?_jl],a’rA“w%:

[ 3 (—4)“]

M L1 (-1
[1+2n -4n

A -

&)

]

e 1on]
& 1+2n —4n:|
|

G A @ 3(A-2)
ey, v, z SRS wEt ¥, o
1 log.y log,z

.logyx I log,z amqq-%

log,x log,y 1
(Hh 0 @ 3
(3) log, xyz @ logc(x+y+z)
'G‘Hﬁﬂim"ﬁﬁﬂx+2y+-32=l;2x+y+
3z=23M5x+ Sy+9z= 4% '
(1) FETATRI© |
() A AR |
(3) FEAE |
(4 TG R |

36.

37.

39.

40,

0 1

then F(x) F(y) is equal to
() Fx+y) @ Fxy)
(3) F)+Fy) @ F(x)-Fy)
| 3 4 |
!fA=[1 1 ], themdfs'equ al to

[ (4"
o 7 o)

[1+2n —4n ]
@ | 1+n 1-2n ]

[1+3n 1 —4n]
3 . 1+n 1-n |

[1+2a4n ]

@ | 4 r-2n]

1 -1 17
IfA=| 2 -1 0 |then A 'is equal

10 0.
1o
1 A (2 A?-
oW @ 3A-2D

If x, y, z are positive numbefs, then
1 log,y logz

log, x 1 log,z |is equal to
i log,x logy 1
O 0 @ 3
(3) log.xyz @) logfx+y+2

The system of équations x + 2y + 3z = 1;
2x+y+ 3z=2and & +5y+9z=4
have '
(1) No solution

(2) Unique solution
(3) Infinite solutions
(4) None of these -
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42.

43.

44,

45,

Y 3x 4y = 9 fargt (1, 3) #RQ, )

# Sigt ae @ s e osEuE W

ferenforer ael 8, TR &
(1) 3:49 &4 &
(2) 3:4 ai® &7 9
(3) 4:3 R

@ 4:3 AR TR

x Oﬁ'{'x—cﬁ@ﬁﬁmﬁ
qﬁ-ﬂaﬁaﬂvr%

1
6} x2+y.2—cxicy+zcz=0
' i
@ 2ty’tex-—cy+zc?=0
(3 2+y?l—cx-cyx—=0

=0

&% A%

(4) x*xy’+ox+cy-

154 ot T SGA a9 99 F o,

W 2 -3y=5 33 —4y=7%, 7
T I o G

(1) R2+y2+2x-2y=62

(2 »2+y+2x —2y=47

() x2+yZ-2x+2y=47

4 x2+yi_2x+2y=62

Iy PQ RAEEy? = 4ax i TH G

. 2.8P.S
Sitar, fy S ® SP+SQE‘%ER&
(1) a @ 2a
(3) 4 @ &
2 Y s

dnfege 55+ 35 =1 % gt oo <
TR 6T TR &

£ 422
W) ¥ @ -5

b2 b’
®) 43 @ =3

41.

42,

43,

44,

45,

‘The line joining the points (1, 3) and

(2, 7) is divided by the line Ix + y=9
i the ratio

. (1) 3: 4 externally

(2) 3:4internally
(3) 4:3 externally
4) 4:3 internally

The equation of circles which touches
x=0,y=0andx=cis

i
Q) xz+y2—cxicy+zcz=0

2) 'x2+y2:l:cx—cy+lzcz=0
2

(3) x+yl-ecx—cy: % 0
¢

@ Zry*+ex+ey—T=0

4"
The lines 2x ~3y=>5 and 3x —4y=7
are the diameters of a circle of area

154 square units, then equation of this
circle is

() 2+y2+2x-2y=62
(2) P+y?+2x-2y=47
B3) X2+yr-2+2y=47
@ »2+y*-—2x+2y=62

I PQ is a focal chord of the parabola

y= 4 ax with focus at S, then SI§+SS((%
is equal to _

(1) a (2} 2a

(3) 4a 4 a

The product of slopes of the conjugate

diameters of the elhpsex; % I, is
a2 4a?
(M) 32 @ =7
v 5%
Q) 43 @ =



46.

47.

48,

49.

(D) £'w0)= 1w

AT A+ yh =t Pt e ot
@1 A #E 9 p i q STaEve HE

YA +¢ WY

W x=a@ + sin 0), y= a(l — cos B) %
9=§Wcﬂﬁmﬁ'aﬁaﬁré%

() 2

() 2

@ 5

) %

T glx) = g;-c;;;eo 1 WA A ¢,
-

2 g6) =1

(3 f(x)=0 4 gx)=f(x)

T ay? = x2(a — x) & TN T AAFA &

2 2

o = @ &

a2 ' 16

® % @ 5
W x = 4 IR y2 = 165 FAHA
R & T STHA TR &
) -l,faﬂms‘
@ ot et

@) Gt vt

@ Ltz

11

46. -

47.

48.

49.

50,

If the tangent at any point on the curve
x* + y* = a* cuts off intercepts p and q
__ & -4
on the axes, thenp 3 + q 3 is equal o
-4 -t
(1) a?l
-1 -1
3 a?

The length of the normal to the curve
x=a(0 +smn 0), y=a(l ~ cos 0) a

.
=>5is
W 2 @ 3
G) V2 ) \,%

The function g(x) =ﬂfl,x # 0 has an

" extreme value, when

() '@ =fx) @ gw=1®

@) fix)=0 “) &)= fiix)
Area. of the loop of the curve
ay?=x¥(a-x) is :
) %253 ) %2

o & @ X

The area of the region bounded -
between the line x = 4 and the parabola

y2 = 16x is equal to
) 1—;' square units
(2) '33_2squarc units
3} ‘%square units

4 'QTS square units
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S2.

53.

)

TF §eT o AR A WA feree

FHT: 20 AR 4 & 1 AR Fe1 & IAF WE

% 29 9@ e R, W

(1) qﬁmmraﬂrwhamaaaﬁﬁl

() wifas & 99 o 2 9% SRR R
A fraert a8 W |

(3) wiferer sg WM W] W o
e SRAT |

(@) wfeae gz SR W] A foaeH
g ST |

X, 75% ®mel ¥ SR Y, 80% AWl §
v wied ¢ | et TE T H S
THA AT e QA U ay
ﬁﬁmum‘uﬁ%‘?

£y
@
(3)

w1= Bl 8l5 8l

4

2 ® % Wi arfoee % weag |, F
3ETa Shefel O 3o 1§, o TRV 9
qRfe® SR W e SR ¥ 1 =@

R ¥ SR B ot e
3 3
M % @ 3
1 1
A 3 @ 3

Qi 1@ 11 FQ A i = AR

Y § 957 fea S € 19 S W= A
wa g @ o oyt & fouw %ﬁ o
';nﬁaﬁr%

2

th Lhle
Lhilds ta]bo

3) @

51.

52,

53.

The median and Standard Deviation

(8.D.) of a distribution are 20 and

4 respectively. If each item of

the distribution is increased by 2,

then .

(1) Median and S.D. will increase.

(2) Median will go up of 2 but S.D.
will remain same,

(3) Median will increase but S.D. will
decrease.

(4 Median will decrease but S.D.
will increase.

X speaks truth in 75% cases and Y in
80% cases. What is the probability that
they contradict each other in stating
the same fact ?

7

1) 35

13
@ 3

3
G) 73

1
| @ 3

A determinant is chosen at random
from the set of all determinants of
order 2 with elements 8 or 1 only. The
probability that the determinant chosen
is non-zero is

3 3
M 3¢ @3
1 1
3 3 @ 5
Two integers are selected at random
from integers 1 to 11. If sum of both is

even, then the probability of both the
integers being odd is

1
ms @)

il Laldte

3
® 3 @



56.

57,

58.

59,

60.

feplt e =1 wor V ¥ 1 Al R % e
WA @ UF A AR k Wm0 R

S, W A TG gy
mv 2 kv
(3 kv @ %V

R G T A o g &, @ G
Wﬁﬁ:m%:

(1) =%

(2) T *H

(3) o 5%

(4) P SFF T8

o

G={a,a?,a%,a%, a° a% FAH T
(1) ashad () a aer
(3) ab FHoe @ a3k

g O@) = m, Ob) = n &l a K b
Il TE G ¥ srags €,
(1) O(ab)=A/m

(2) O(ab) =a/mn
(3) Of(ab) =mn
(4) O(ab) =&¥T. {m, n}

% p 3T = ¥ $R G TF e-eee
P Hile H TR €, 09 G W &g quE
&

(1} (p+1) ¥=F™

@ p*H=TE

() p e

(4) (p-1) ¥

qﬁ;}-{WGiﬁtﬁ‘m{é’%ﬁ'{a,be
G, \

() Ha=Hba sixdeeraigable G
(2) Ha=Hbdf§ stk afgab'e H
(3) aH=bH 3% sik Feer A (ab)~te G
(4) aH= Hb 3R sk F=e ik ab-le H

13

35.

56.

57.

58.

59.

60.

Variance of a distribution is V, If each
value of the variate be multiplied by a
constant quantity k, then new variance
is

n v (2 kv

3) KV 4 2kv

If G be an infinite cyclic group, then G
has exactly

(1) One generator

2 Two geﬁerators '

(3) Infinite generators

(4) No generator

The generator of the group
G={a,a?,a3,a* a° a°} is/are
(1) aonly - (2) @ only
(3) abonly 4) aand &

If O(a) =m, Ob) =n, where aand b

are elements of an abelian gronp G,
then '

(1) Ofab) =/m

(2) Oab) =+/mn
(3) O(ab)=mn

(@) Oab) =L.CM. {m, n

If p be a prime number and G is a non-
abelian group of order p’ then the
centre of G has exactly

() (ptl)elements

(2) p?elements

(3) p elements

(4 (p~1l)elements

If H be a subgroup of a group G and
a, be G, then

(1) Ha=Hbiffab e G
(2) Ha=Hbiffable H
(3) aH =bH iff(aby'e G
4 aH="Hb iffab"e H

A s e



6l.

62,

63.

T G TR WE e ACAT H TE G
FEIAET 19K N, G = FS WA
IR, 7

H
ay =

s

HANN

T D

(2

ti

=
Z D

N

S

3

[F]

[z =
TiD D
Z

N
HN
H
HN
N N)
HN

N

@

]

T SR WE H Wl ITWE & §
(1) -3l () W
(3) wEaWr (4) oy

o £, TE (G, 4 REF (G, ) A&
WE GO €, Wa, be GF R

(1) flaxb)=fa)+1fb)

@ f(ax b) = f(a) x f{b)

3) fla+ b)= fla) x {b)

(4) fa+b)=fla) + f{b)

Fer ¥ AW GE Y

(1) T HACab=0=>Wa=0Tb=0

() WeH IR I T YT W ¢ |

(3) vE% Tiim Een w8y
TRTE | '

(4) Wi Gl 1w e d
ST U & W U aod G |

Py W9 A T gl w2

0 N+ ) @ €+
B) (Q+,) @ (R,+,)

14

61.

62.

63.

65.

.3

Let G be a group and let H be any
subgroup of G. If N be any normal
subgroup of G, then
HN H
O N E=HAN
HN H
@ HE=HAN
3 HN _ N
& N E=EAN)
HN NN
@) = (HH )

Every subgroup of an abelian group is
(1) Non-abelian (2) Cyclic
{3) Normal (4) Coset

If fbe a group homomorphism from a
group (G, +) to a group (G, ), then for
abe G

(1) fa xb)=f(a) +f(b)

(@) flax b) = f(a)x f(b)

(3) fla+b)= f{a} x f(b)

(4) f(a+b)= f(a) +f(b)

Which one of the following is correct ?

() I aring if ab = 0:>e1thera—0
o b=0

Every finite ring 8 an mtegral
domatn.

Every finite integral domain is a
field.

The set of natural numbers is a
ring with rtespect to the usual
addition and multiplication.

3
@

Which of the following i not -an
integral domain ?
(M N+ )
() Q+)

2 (C +)
@ R %)

06



67.

69.

70.

71

B3 2

trﬁ'x2+_px+l=0%u§a,b%a‘m2+
E+1=0F Teic,d g, d(a~c)(b— o)

@+d)(b+d) HAFE:
(h p*-¢* @ q*-p?
B pHe @ 2pq

ﬁﬁ@ﬁﬂﬂﬂm—z+bx+c=0a?%’fﬂ

2
aﬁrqmr%,?ﬁ@wﬁ
o .
W) o @ =
c? 1
® 5 @ =

x=6% ol quUgt-5°0-5x2-5x +
2 %1 O SR T
(I 2

(3) 1296

@ -12
@ 8

g A0S - 18y —35= 0 T &
(1) - weft awcfers ofik g

@) Wi i e

3y witafmy

(4) T diaw K whiwm dgr

PS5 —B 4+ Tx+2=07 fupy

(1)1 (2)4
4 3

- Jdu odu
i u= tan"(x),ﬁa‘§+ Yay P I

X
¥

M o

3) tanu -

2) u

(4) sec’u

15

' 660

67.

68.

69,

70.

71.

e

3) 1296

If a, b are the roots dfx3+px+ 1=0
and ¢, d are the roots of x>+ gqr + 1 =0,
then the valuc of (a — ¢) (b-c)(a+ d)

(b+d)is |
(1) p*-¢? ) q*-p?
3) p*+q?

“4) 2pq

If the ratio of the roots of the equation

132
ax2 +bx+c=0isr thenLITl)—'iS
* equal t©
a2 B
be 2 ca’
c? 1l '
3 -5 @) abe

For x = 6, the value of the polynomial
P —.5x3_—.'5r? — Sx + 2is equal 1©

() 2 2 12

4) 8

The roots of the equation

¥ - 18x-35=0are
(1) all rcal and cqual
(2) all rcal and distinct
(3) all complex
(49 one real

" conjugate

and two complex

The number of utmost negative roots
ina® +5x8 —x3+ I +2=0is

(h 1 2 4
(3) 2 4 3
I u = tan‘.'G )’,I then the value of
au+ du.
Xy ya—yls
I o (2) u
4 sectu

(3) tanu

T




7.

73.

74,

75

M)

El'ﬁp=asin\pcéstpﬁﬂﬁﬂﬁﬁ’[%:
M p 2 2p

(3) 3p @ 4

A TR |

X -2y3+xy(2x-y)+y(x-y)+1=0
&21)

x-y=0,x+y+1=0,x+2y+1=0

o B A el W wedt ¥

forg ot weer T W w8
)]
¢3
3
G

x—-y-1=0
x+y+2=0
x-y+1=0
-x+y+2=0

fje"“*iz}lydxa?!ﬂl’%:
00

)

Ay w~iE

ol IR

®3) C)

WV, x20,y>0,220,x+y+z<1
A [ [ [¢oymtan-ia
7y |
dy dz SRR E
[7 [m [n
r(l¥m+n)
[ [m [n
(2) -

. |—(l+m+n—1)

[7[m o

) I;(lm+mn+nl)

[2fm [n

(!+m+n)|-(l +m+n)

D

4)

16

72.

73.

74.

75.

v

.T_hc radius of curvature of the curve
p=asin y cos ¥ is

M p
3 3p

@) 2p
) 4p

Ifx-y=0,x+y+1=0,x+2y+1=0.
are the asymptotes of the curve
B2y +xy(2x—y)+y(x-y)+1=0
cut the curve again in three points,
then these points lie on the straight line
() x-y-1=0

@) x+y+2=0

@) x-y+1=0

4 —-x+y+2=0

fje**"zﬁ) dydxisequal to

00
W 3 @ 3
® % o) 32E

K V is the region bounded by x 2 0,

y20,z20,x+y+2z<1, then
J.fo’— ly“‘“‘z“‘lh dxdy dzis equal
v _

o

[1 [m [

) [ (/+m+n)

[7 [m [0
[((+m+n-1)

~ [ifm[n
©) ["(!m+mn +ni)
[7[m [

@

_(1+m+n)|_-'(f +m+n)



76.

77.

A ) = 2—4;xe [2, 4], ) F
IGCRE R e R o

(1) el v wEa )

(2) = T e

B) C=243e (2 4 Toemm ¥
f'(c)=0

@ FE ISR |

agx"+ap"~l+.. +a =0

 WEFAAFH @ IA 0 IR 1 % 7eg B,

78.

79.

(D

A

)
3

na;+(n-1)a,+....+a, =0
a a
0 1
n+ 1+ n T

+a, =0

“4)

i A {a )} @ (b} e oRf

WA a T4 b g o 8, v
: ._a]b“+aQb +..+a b '
im - L sy
(1) a+b (2) a-b
3) @ @) V@2+1?
SR {x,} I
2x +3

=1,x .= ¥neN, ¥
) s
() FTER
(3) wew stEry
@) T | B & |

17

76.

78.

79.

.

If f(x) = \f‘xk 4; x € [2, 4], then

which of the following is tiue for fi{x)?

(1) Rolle’s theorem is applicable.

(2). Lagrange’s theorem is applicable.

(3) There exists C= Z\ﬁe 2, 4 st
£'(c)=0.

(4) None of these

Using Rolle’s theorem the equation

agxi+ta -+ +a =0

has atleast one root between 0 and 1, if

B 2 _
“n—=1" T S

2,

===,

@ ——

3)

n-1
na,+(n-1)a,+....

G
+=+...+a =0
n+1 1 e n

Q)

If the sequences {a} and (b}
converges to finite limits a and b
respectively, then

a;b +tab, _ +..tab
.nlf};“m 220 " i is equal
m .
1) a+b @ a-b__
(3) ab @ \J@ +1}
Sequence {x,} where
| 2x +3
o=hx = 4 VneN,
is

(1) convergent -

(2) divergent

(3) conditionally convergent
(4) none of these




80.

81.

82.

83.

.?lﬁ'paﬂi'q ammuww%?ﬁ

» P 4 -
aiﬂi’rlq+2q+3q+ .......
ofg
(1) p<q-i

3 pzq-1

2 p<q+1 -
@ pzqtl

A ¢ AT SR A R 2

2
) f(z)={ e

) fz) =| |2aah'z=raa%|

(3) flz) = 2,
T

@ 1@ = |2 + e Faw qw
g o fammm ¥ 1

Z=iWHAA ¢ |

ne z Eﬂﬁ%ﬂﬁq

| aﬁﬁz) u +iv u Foreefis s 8, A

g s aw g ?

ou oJv du ov

M 3=1%6% 5 o

W fz) = \/|y] ¥ foe fer # @
ST B ? -

(1) g faweifes

() (0, 0) Tt faveiftes

(G) (0, 0) T HHT Gﬁ\aﬂﬁm

O OERE
4 (0, 0) T FRAGA TR e
T gt |
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80.

81.

82.

83.

()

@

If p and q are positive real numbefs‘,

2> » 2

then the scmas1 X +§E Fererriinins
is convergent if

(1) p<q-1 (2 p<q+tl

- () p2q-1 @ pzq+tl

Which of the following statement is =
false?

z22, z#] :
(1) f{z)= { z’ i1sc:0ntmuous
atz=i.
f(z) = [z]* is continuous everywhere.
flz) = z" n € Z' is diffizrentiable
everywhere. _
The dérivative of flz) = |72 is
exists only at origin.

(3)

4)

If f(z)= u + iv be an analytic function, |
then 'which one of the following is true?
‘Ju v . ov

D 5" 030 " e-
u_1dv du  ov
__ @ %=r30°% o0
du _ldv du_ dv
®) x~"rge'ae "

Which one of the following is true for

the function f(z‘)=‘\} |xy| ?

(1) Analytic everywhere

(2) Analytic at (0, 0) only

(3) Cauchy-Riemann equations are
satisfied at (0, 0)

Cauchy-Riemann equations are
not satisfied at (0, 0)

- 06



85.

86.

87.

TR o u(x, y)= e cos y WHAR T
Wﬁ'ﬁ'ﬁ'm%x, Y &:

(1) ecosx+C

@) efsiny+C

(3) &sinx+C

4 -ecosy+C

e v & wea EQI'-?'TTUT W =g{§-—:—%
w-TRae o T I9 H 2970 d T

e Y e e 87
(1) [a]=1d]

2 |b|=

(3) la|=| 4 |b]=4|

e THRRY (x + a)p? + (x — V)

. d
-_ p—y=_0(3131p=ﬁxz)a?rmql'-‘q'5'ﬁ%

a?
(1) Y—_Cx=c+1
' 2

@ y+—a—=cx
2
ac

(3) y+c? =30
a2c?

“ y+cx+c—+-i'—0

mmﬂd—;zxz+x=0;x(0)= 1
x'(0)=0, T &

(1) ST T FHIT IFTET ST & TF t — oo
(2) T A A F

" (3) o o @ Aty SR Y |

(4) fommm =¥

19

84.

87.

If the function u(x, y)= e* cos y is
harmonic then its harmonic conjugate

v(x, y) is
(1) &cosx+C

2 esny+C
(3) &¥sinx+C
4 € cosy+C

Under which condition that the
az+b
transformation w = (az+b) transforms

(z +d)
the unit circle in the w-plane into
straight line in the z-plane?

() [2]=|d] @ [bl=fl
G) k=< (4 |bl={|
The general solution of the diffierential
equation (x + a)p? + x —y)p -y =0

(wherep———%)is

(1) y-er=g 7

2
@ yrooj=e

' ac?
2,
@) y+eix=_

’ 2 2
4) y+c.x+ ot =0
The solutioh of the differential

equatlon dr2+x 0;x(0)= 1;x'(0)=0,

4)] approaches to infinity as t — oo
(2) is a periodic function.
(3) is always greater than or equal o

unity.
(4) does not exist.’

L]



' 'I 89.

90.

91,

W'ﬂﬁ\mﬁg—g :+9,\E§+y=0
HEAE

(crtep)
M y=——%

(¢, + ¢, logx)
- X

(2) y=

(¢, +cox)

4) y=x{c,+c,logx)

YT S FEHOT
zG:p-yq)=y2~ W EAY
(1) fix+y+z)=0
@) flxy,x+y+z)=0

3) fx+y,x*+y2+22)=0
@ foy,x?+y*+22)=0

Qs WA T A= FR
IE 0, > 0 % fow wet 80

' 1
1) 5rg Q= [ewQax

1
(2) 5—$=emfe‘¢“(}dx |

O 5T g=c [ Qar

| _

AT = xi+ y) +zk dRr = |7, @

grad(%)ﬁﬂﬂ?%‘ :

m -5 @ -3
T 1
® 3 @ -3

| 88.

89.

90.

91.

(Dy="">

The solution of the diffizrzntial

42
equation x? M+3x{%+y=0is

dx?
(citeyr

(¢, +eylogy)
@ y=—"—

¢y + &%)
logx

(3 y=
(4} yzx(cl-!-czlogx)

Solution of partial diffierential equation
Zop -y = y2-atis

M) fix+y+z)=0

@ flay,x+y+z)=0

B) fx+ yox 2432 422)=0 |

@ fay, 22 +y*+22)=0

If Qis any function of x, then which one
of the following 1s correct for v >0 ?

W5igee femoa

1 _
@ praQ=e” [e= Qar

(3) —D—i—8=emrj.e—a\‘de

i o
@ g Qe [e=qQar

If?=xi+ﬁ+zﬁand r=|_r>|, then

grad(% )isequal to

W -5 @ -3
@ -5 @ -3



92.

93.

95.

afe 7 T e g, aa divr RECE:
1 2
W T @ ;

3
@ = @ 0

R F =ty Fl)iti-(x+y)k, ®

(1) VxF=0
@ V.F=0

@ F.(VxF)=0

@ [Fl=0
g SR 22 + y2 +2z2 =9 & YTE, I
[ [#-haswmece.

&

(1) 27r @ 36rn
() Mn 4 108w
2% WY 1 BT §

(1) ff«"-dr=ffﬁ-7v’x?).ds
) f('v’xF) dr-”n Fds

3) f(ﬁ?’ F)dr= ”n Fds

(4) fF : dr=ff('v’>< F) - dS
[ S

F—ﬁmﬁ st T U T % VR U 2,

3 a6 1o Y et €
() 5 @ 25
@ 3 @ 7

2

92.

93.

95.

If T is a vector, then div T is equal o

1 2
W 7 @)%

3
(&) - 4 0
1f?=(x+y+1)’i\'+3—(x+y)fc,then
(1) VxF=0
@ V.F=0
@) F-(VxF)=0
@ |¥|]=0

IfS is the surface of the sphere
x2+y2+22=9, then

jf r-ndS isequal to

@ 361
@ 108w

(1) 2n
3) | Mxn

Statement of Stoke’s theorem is

) f?-dwffﬁf(’x?)dfi
C 8

(2) ;(_V,x Fiir =ffﬁ.§’ds
¢ S
- (3 -Jr‘(aﬁl:"’)dr=ffﬁ.ﬁd3.
c S
4) :T*")-dr?ff(ff,x?)-ds
C S

The projection of a line on the axes are
2,3 and 6 respectively, then the length

of line is
M 5 @ 25
3 3 @ 7



97.

98.

99,

100.

101.

G tan"(ﬁ)

' 3
(3) tan? (@ 4) tan“['l—l).

(1) rhr,

) \B+1

—2 _z= -3
= 3, -1, 1) ﬁir@r-* 3

W @ T e %Wﬁ?ﬁ%ﬂﬁ €

(1) (2,3,4) @ 257
G 2,1, @ 1,23

e, el r, B ¥ 9 i afe

T |
(2) r]"fz
rr2

@ NS T

fag (1,2, )y FEHaT
2x+ 6z — 3y+35 =0% T uffr= e

M (-1,5-3) (@ (3,-1,9)
G) (-3,8,-9) @ (3,5-3)

aft wfietr ax? + by? + ez + 2ux +

vy + 2wz + d =0 T ¥ig % e

FAT Y, e e Ry €

(1) ul+v2+w2=d
SRR

@ ZTF e

vi w?

© v

@ +p+o=d

2 it p & Q i aRoml ¥, @ R iR P

& T HTE: _ .
2 tan“(%@]

97.

98.

99.

100.

Co-ordinates of the foot of the
perpendicular from the point (3, -1, 11)

hotheline%zy—;‘z‘ﬁ-zi—?is
I 23,9 @ (2,5,7)
3 &L @ (1,23

If two spheres of radii -1, and r,

intersect orthogonally, then radius of

commeon circle is

rl T2

2
r1 +1,

The image of the point (1, 2, 3) with
respect to the plane '

2x +6z-3y +35=0is _

M (-1,5,-3) @ (3,-1,9) -
@ (38-9) @ 353

@ Affitr; @

If equation ax? +by? + c2? + 2ux +2vy
+ 2wz + d = 0 represents a cone, then
the required condition is L

(1) u2+vi+wl=4d

@ Tyt =4
u
3 ?+§+

“)

o1, 2R

72737 4 where R is the resultant

of two forces P and Q acting at a point,
then the angle between R and P is

3115
(1) ta“‘(%) © tan"[ T ]

15 3
3) tan-{Q (4) tan (] 1)



102.

103.

104,

165.

106.

(3 0<psl

afr fedt KA T W P % Regel
2, 0), (0, 2) 3 (2, 2) % Ter e
HAS: 3, 4 T4 10 TR &, a9 it ot
FORETE .

aﬁpwwqumw%?ﬂﬁq

T d B EE e ?
() ~1SiST () - <p<e

4 0su<l

ey @ wiFer w9 s s W

gHtTor o Bigr T8l o W ?

(1), Haa= S’ = o

@) ST woig

(3) @ el & Wk g W 3T A
R e

@) et fam g =l uidbmr

YR &l o ford e o &

(1) y=csec W AT GHEROTE |

(2) y=ctan wmﬁ‘@mé‘l

&) y‘=ccosh[§ ]W?ﬁqmﬂmﬂ%l
(@) S i

iy fpet % & el o e A
T IR T @A BT 9 g
T .

(1) R

@ T
(3) welir |fae
(@) faRaer

102.

103.

104.

105.

106.

If the moments of a given system of
forces about three points (2, 0), (0, 2)
and (2, 2) are 3, 4 and 10 units
respectively, then the magnitude. of the
resultant force is

85

(1) /85 @ \/7
85 1

@ \/3 = @ 385

If U is the coefficient of friction of a
rough surface, then which of the

following is true?
(1) -1sp<i
(3) O<p=1-

{2) —oo<l_|,<o-o
@ 0<p<l

Which - of the follou}ing forces should

not be omitted in equatlon of virtual

work?

(I} The tension of an inelastic string.

(2) The thrust of a rod.

(3) Mutual reaction between two
bodies at their point of contact.

{4) The reaction of any smooth

. surface.

The true statement for the common
catenary is _

(1) y=csec yis intrinsic equation.
(2) y=c tan y is parametric equation.

(3) y=ccosh(§ )iscart&sian equation.
@l of these |
If the radial and tranversal velocities of a

particle are always proportional to each
other, then the path of the particle is

~ (1) Parabola

() Circle
(3) Equiangular spiral
(4) Hyperbola
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If a particle moves along a straight line
P

according to s =73~ S5t2 + 9t + 17, then
its velocity will be negative when

(N 1<t<9

@ 1>t>9

G) 1<t<9

@ 1<t<9

A light elastic string of natural length
[ and modulus of elasticity A is hung
by one end and to the other if a particle
of mass m is tied, then the equation of
motion of the particle is

?x X

¢y} e (2) Et'f=~‘r‘l“?x
d -~ d%x -ml/
® G@=mr @ @

A particle is projected in a diréction
making an angle « with. the horizon,
its horizontal range is R. If it passes

through the point (p, g), then tan o is .

equal to
P_R_ 9 _R_
D ¢ r-p @ 2 R-p
p_R_ a _R_
) g R—g @ pR-

110,

The angular elevation of an enemy’s
position on a hill h metre high from a
canmmon 5 . In order to shell i, the
initial velocity u of the projectile must
satisfy the condition

) u<\lgh(1 + cosec )
2 uS\!'gh(l—cosec B
3 uz\l gh(1 + cosec fB)
) u>~Jgh(i- cosec P)
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If V be a vector space of dimension n,

then which one of the following is not

true?

(1) Every list of @ + 1) vectors of V
is linearly independent.

(2) No list of (n—1) vectors of V can
span V.

(3) Any set of (n—1) linearly
independent vectors is a basis of
V.

(4 Any set ofn vectors that spans V,
is a basis.

If X, d) be a metric space and let
A, Be X then true statement is

(1) Ais aopen set. _
(2) Ais closed if and only if A= A.
(3 AUB#AUB
@ AnB#ANB

2F (1, 1; 2, =) is equal to

@ log(l -x)
1
@ 1of 1 )

(I) log(1 +x)
3) i’log(1+x)

oo

I E() =

_u

e— du then Laplace

H
transform of E(t) is

)
M) P (2) logp

1 1
3 ;logp. ) glog(pﬂ)

Which one of the following is not
Serret-Frenet formula 7 :

M

) %=Kﬁ @ g gb_ Tn
@ @=To-xi @ g—s-~xb 7t
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(3) xty+z

Any covariant tensor of second order

can be expressed uniquely as the

(1) Sum of two symmetric tensors o
order two, | :

(2) Sum of two skew-symmetric
tensors of order two,

(3) Sum of a symmetric tensor and a
skew-symmetric tensor of order
two.,

(4) Difference- of two symmetric
tensors of order two. '

From the following table the value of
y(1.2) is
X 10 | 1.1
y) {0 |37
(1) 13.2
(3) 13.0

13-
279 | "
2 158
@ 137

2
AX x> is equal o
y Tz

1) P+y3+28 @ x2+‘y2'-+2'52;.
@) xyz-

For  non-degenerate BFS in
transportation problem with m rows
and n columns, total empty cells
should be

(1) (m+1)(n-1) 2) m+n-1

G (m-DH@e-1) @ (m-N(n+))

For what value of A, the .g'ame with
following pay-off matrix is strictly
determinable :

B
A 6 2
A{ -1 A —7}
2 4 A
() —1SA<2 " (2) -7<AS2
(3) —1<A<4 (@) —7<As6
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Educational psychology helps the

-teacher

() to understand developmental
characteristics.

(2) to understand individual differences.
(3) fto understand problems of children,
(4) all of the above

According fo whom, educational
psychology is the science of education ?
(1) Skinner

) Peel

(3) Pillsburg

(4) Bruner

In longitudinal approach children who
are observed, are

(1) New

' (2) Different

(3) Same
(4) None of the above

A child learns more if he is

(I} taught through lecture method.
(2) taught through textbook.

(3) taught through computer.

(4) taught through activity method.

What is essential for learning?
(1) Self -experience

(2) Self -thinking

(3) Self -activity

(4) All of the above

Which of the following is not the
maxims of teaching ?

(1) Known to unknown

(2) Specific to general

(3) Part to whole '

(4) Simple to complex
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Which of the following is not a

principle of development?

(1) Principle of uniformity of pattem

(2) Principle of  proceeding from
specific to general response

(3) Principle of integration

(4) Principle of continuity

The view of psycho-social stage of
development was proposed by

(1) Bandura

(2) Freud

(3) Kohlberg

(4) Erickson

Which of the following stage is called

" the period of transition ?

(1) Childhood

(2) Adolescence
(3) Adulthood

(4) Infancy

Who is the fiather of behavnounsm‘?
(1) Hull '

(2) J. Watson

(3) Freud

(4) Ivan Pavlov

Constructivist learning is advocated by
(1) Skinner

(2) Lev Vygotsky

(3) Kohler

(4) Maslow

The meaningful verbal learning was
explained by

(1) Robert Gagne

(2) Jlean Piaget

(3} Jerom Bruner

(4) David Ausubel
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Daniel Goleman is associated with

(1) Mental Health

(2) Emotional Intelligence

(3) Creativity

(4) Personality

An effective teacher is one who can
(1) Control the class |

(2) Give more information

(3} Motivate students to learn

'(4) Correct the assignment carefiully

Which of the followisig matching is
correct?

(1) Types of learning - Kohler

(2) Experiential leaming — Carl Rogers
(3) Social learning — Gagne

(4) Insightful léarning - Bandura

Defiznce mechanism is -
{1) Conscious behaviour
(2) Rational ard logical
(3) Direct method
(4 A protection
personality

shield to one’s

The inquiry training model ofi teachmg
was developed by

(1) Bruner

(2) Richard Suchman
(3) Donald Oliver
(4) John Dewey

The concept of co-operative learning

was introduced by

(1) Johnson and Smith
(2) Felder
(3) Heller
{4} Feichtner and Davis
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‘Which stafement is wroﬁg with regards

to constructivism ?

{}) Leaming is an active process,

(2) Leamming s a
interpretation of world.

(3) Teachers disseminate information
to students.

4 Teachers help students to
construct their own knowledge.

personal

Factors causing adjustment problem are
(1) Stress
(2) Anxiety

(3) Frustration
" (4) All of the above

According to constructivism, the ol
of a teacher is as a

(1) Facilitator

(2) Administrator

(3) Team leader

(4) Director

Audio-visnal aids

(1) Facilitates in understanding

(2) Helps in developing perception of
the learner _ |

(3) Increases the retention of the -
learner

(4) All of the above

.Which. of the following is the example

of information processing teaching
model ?

(1) Social interaction model

(2} Concept attainment model

(3) Laboratory teaching model

(4) Group investigation model
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Classroom teaching should be
(1) One sided (2) Intense
(3) Interactive (4) Slow

Function of communication is
(1) Motivation

(2) Sharing of information -
(3) Education and training
(4) All of the above

Computer aided instruction is called as
(M |
@
3
@

Wi-Fi stands for

electronic brain
electronic memory
electronic book
electronic journal

(1) Wireless Factory

(2) Wireless Fidelity |
(3) Web Factory
(4) Wed Fidelity

Information communication technologies
(1) raise students’ motivation

(2) raise students’ achievement

3)
4)

promote higher order thinking
all of the above

is used to protect network

from outside attacks.

(1) DNS
(3) Extranet

(2) Firewall
(4) Fortress

Optical storage device is
(1) Flash memory cards
(2) ‘USB drive

(3) DVD

(4 Hard Disk

K3 |
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